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A78 Answers to Odd-Numbered Exercises
77. True 79-81. Proofs 1. |x-—- 4‘ | |ﬁ(x +1)+ /3 5]
.- + ; +
83. (2) v(r) = —32¢ + 500 7. 3l c n 2./6 1"] 2+ 1) =3 &
e 1. 4x—1) P 10, [x—5
. 8|.4arcsm( 9 +C 83. —2—4x ?lnx+1‘+c
85. 8arctan(e?) — 2m =~ 5207  87. In(/17 + 4) =~ 5.237
89. (a) In(/3 +2) (b) sinh~'/3
°% = 91. 2xg 93, —/a?—x%/x  95-10l. Proofs
®) s() = —16£2 + 500¢; 3906.25 ft 103. Putnam Problem 8, 1939 X
Review Exercises for Chapter 5 age 380 '
© vy = /2 tan[arctan(SOO ﬁ) - \/32kt] P (page 380) cE
k 32 I. 3. 33 +i2—x+C
(d) s (e) 1088 ft
(f) When air resistance is taken
into account, the maximum !
height of the object is not as
0 , great. / .
° |/
t, = 6.86 sec
Section 5.9 (page 377) 5. x2/2 = l/x +C 7. 2x2 + 3cosx + C 5
I @ 10018 () —0964 3. ()% () & 9.5c—e*+C 1L 5Shlx|+C 3. y=2-—x2
. a A —U. . a)3 12 3
5. (2) 1317 (b) 0962 7=I1. Proofs I15. 240 fl’g/sec 17. (a) 3nsec (b) lﬁft (c) 3sec  (d) 108 ft i.
13. coshx = </13/2; tanh x = 3/13/13; cschx = 2/3; 19. @ Y Q-1 ® Y& © Y @i+2) _
sechx = 2/13/13; coth x = /13/3 =i L = : .
I5. —sech(x + 1) tanh(x + 1) 1. coth 19 h 21. 9.038 < (area of region) < 13.038 1 T
. ‘SCC X a X . coth x « CsChh x 23. A =16 25. A =12 |
21, sinh®x 23, secht 25.y=-2x+2 27.y=1-—2x . M " T
29. Relative maxima: (+r, cosh 7); Relative minimum: (0, —1)
31. Relative maximum: (1.20, 0.66) 8
Relative minimum: (—1.20, —0.66) 8
33. y = asinh x; y’ = a coshx; y” = asinhx; y” = a cosh x; 9
So,y” —y"=0. ¥
35. Pi(x) = x; Pyx) = x .
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37. (a) ! (b) 33.146 units; 25 units # :? |
s (¢) m = sinh(1) = 1.175 T
w__/ i Triangle 1
w0 A e
ot = 2 L \ P.S
st L e 3. 13 )7 (11 @50 35c 37.16 39.0
422
39. —dcosh(l —2x) + C 4l cosh®(x — 1) + C 4.2 4. (V2+2)n a5 et
43. In|sinhx| + C  45. —coth(x/2) + C 41. A=6 49. A=7%
¥ Y
47. csch(l/x) + C  49. jarctanx?+C 51 In5 —21n2 g K
53, Lin3 55 m/4 57.3//%% —1 59. |secx] s al
61. 2sec2x  63. 2sinh~!(2x)  65. Answers will vary. j ; ::,' !
67.00 69.0 7.1 7. I(/eF+1-1)-x+C 2 % :
75. 2sich~'/x+ C=2In(Vx+ VT +x)+ C A8 , 2 i
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